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0 ;--?'.{-;g::n's:z x) + sin™' (sin x))], where x €| 5, 7|, is

(C) = (D) -5

Z2X

Pl £t
(D) tan~ x

R is a monotonically increasing function, if @
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'.- XY, 'E:_ 22
._ }:I“E J*ﬂf ﬂ'lﬂ function f(x) = _{__.E when x < 2 is

:'C_'.-._E:L.F':!j' -:1 : 2 - X
" #i e %.‘ H*:-I:

,f '_ ¢ (B) R-{1) (C) {-1} (D) R - {-1}
: .:: ptains n + 1 coins. It is known that one of these coins shows heads on both
f; W . _rggs the other coins are fair. One coin is selected at random and tossed.
| r H“ﬁy that toss results in heads is {%, then the value of n is
| (B) 4 (C) ' 5 (D) 2

(B) e*tan x + C

e )+c 0) Cc-e*cot

fﬂ'ﬁ

Ine -."_:__.if:_.-___‘ .,,,_L H_g I'Bglﬂﬂ R={x,y):|x|s|yland x*+ y* <1} i5
_ 13 r ? *,

‘*_ [arﬁt (B) §--’t—-f-'.l::t units (C) -2- $g. units (D) gsq units
f the dis *"“‘%J mtha point (3, 4, 5) to the point where the line "1 3 3”: 4 N ; -
i 2
| :I’ lu E,LH f‘i’ y + Z = 17 IS
‘.-:J-"-'.r-b 1-‘
b % (B) 2 (C) 3 D) 4
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"‘n"them are four table tennis piayers, four pos®-graduates in
ata in Commerce and three ban’ cmp }e es. Beena and
ar loyaes while Megha and Ggﬂma are unamoloyad. Priva

h tennis players. Megha, Pri =, cﬂ-w- and Latika are
s in Econo nics af whom two are banit employees. if Zoya is a post-
mm "_;;_'.f:_ “_';ﬂ iC M !he follnmng 1S Dok 4 1aDle [enis piayer and a

---iﬂ-
- S 44,1
""1':

.rn.f ""‘r -:

,, ;r "-:-E*. -u. S (C) Megha (Q} Garima

"I".._‘.

'*“'maans ‘less than’, ‘'~ means ‘greater
fication’, am'! ‘>' means ‘divisian’, then

4@{#>2
i {4 < 12)

N = - 3 " T e
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% 'ﬁﬁl'ds are arranged as found in the dictionary, then what wil| pe the
rom the left in the last word ?

| ?IBN INFORMATION, INTEREST, INTERROGATION, INSTIGATION
By O €)' T (D) |
_{2& bear a certain relationship. Similarly, figure (4) bears the sa,,

© figure(3). Select the figure from the options which would replace ,,
mm (?) in Fig. (4).

Problem Figures
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D) |. )

g1  is given, followed by four answer pairs marked as (A), (B),
t tha ﬁair which does not have similar relationship as in the givep,
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18. In the International games, flags of 6 nations were hoisted in the following way. The
flag of America was to the left of Indian Tricolour and to the right of the flag of France.
The flag of Australia was on the right of the Indian flag but to the left of the flag of
Japan, which was to the left of the flag of China. Find the two flags which are in the

centre.
(A) America and India (B) Japan and Australia
(C) America and Australia (D) India and Australia

9. Choose the answer which shows the correct water image of the given word.
S 0JA32DEOG

(A) 2OFVESDEOS (B) 201VY3SDEOE®
(C) 201V3ZDE O3 (D) 20rY3SDEO®

20. How many 6's are there in the series each of which is immediately preceded by 3
but not immediately followed by 97

5686765656859656968655686595695638
(A) 4 (B) 6 (C)n7 (D) 5

COMPUTERS AND INFORMATION TECHNOLOGY

24. Which of the following options is correct when you convert the given infix expression
into the postfix form?

~A+B*BCA(D*E)IF
(A) A-BCDEAF*/+ (B) A-BCDE*A*F/+
(C) A-BCDE*M*/F+ (D) A-BCDE**/F/A+

22. |dentify the IPSec mode shown below.

- * & ESP or AH virtual connection .

L s IPSec IPSec
Gateway Gateway
Router
(A) Transport mode (B) Tunnel mode
(C) Authentication header (D) Both (A) and (C)

- 23. In DBMS, key provides sole tuple-level addressing mechanism within the

relational model.

*‘f"-* + (A) Candidate (B) Primary (C) Foreign (D) Unique

Jﬁl o . d



LN SIS ORI lng SQL code is correct if you want to show the average salary fq,
he depa er ". s with more than 2 people for a job from the table emp.
Sel ot A ._'jj.:",_;‘-ﬂal) from emp GROUP BY deptno HAVING COUNT (empno)>2;
G(sal) from emp where COUNT>2;
/G(sal) from emp GROUP BY (empno) where COUNT > 2;
H -m- g al) from emp GROUP BY (empno) AND COUNT>2;

@wlng statements is INCORRECT in contrast to EPIC technology?
al'e to communicate explicitly to the processor when operations can be

ﬁL_.

"'-1-

use ; %Jnﬁ 1t coupling between compiler and processor.

T 11.: ﬁarﬁ

e _.pl f.l ,

dic h f;,‘i Ls hmcutes one of the paths of a branch.

_ll_ ‘_.-l‘ =I-T--

more po\ *f* Il than RISC and CISC processors.

3 fﬁﬁlan, several bits of data are transmitted concurrently through
te ::.,}JI ; "I'IG&
Dup rI) Half Duplex (C) Serial (D) Parallel

| ﬂﬁe elements of a domain are considered to be indivisible

zﬁs called as :
E(_B}; Dynamic  (C) Atomic (D) Virtual

‘-.F "' 1’,,.: |Fﬁﬁ B

€ Jn.ls .irm Ln;n,&,f jans if yml press the "Up arrow" key while the scroll lock is on?




proc mwhleh the multicast packet is encapsulated in a unicast packet and then
| ' gh the network is called

lﬂ" encoding (B) Symmetric encryption

m‘hng (D) Switching

‘ ‘iﬁ'f

Nir ns Movie Maker, a file on your computer that contains an image, a clip, a
indtr k or all the footage from your video digital camera, is
A “w act (B) Storyboard (C) Source file (D) Master

’*i

ch Iayerlsub layer in OSI model defines that who can use the network when

Eijn computers are trying to access it simultaneously?
ppﬁcatinn ~ (B) Transport (C) LLC (D) MAC

J" werPoint, which of the following is NOT a category of SmartArt Graphics?
-~ List (B) Relationship  (C) Matrix (D) Level

the following statements is INCORRECT with context to XML?
(A) It L_p as designed to transport and store data.

- “.[_r

lﬂl-"'

B) ;ﬁ is not a replacement of HTML.
‘:EJ;I;ML documents do not form a tree structure.

-; r can create his/her own tags in it.

ta Unit (PDU) of Data Link layer is __ .
(B) Frames (C) Packets (D) Segments

wrapplng style creates a hole in the text as per the outline of

(B) Tight (C) Behind Text (D) Through

ding e-mails that contain less information and much vitriol and

%f.:ff_ ~ (B) Spam (C) Flaming (D) Phishing
conn tm type, three or more devices share a link.

(B) Multipoint
(D) None of these

1 __ layen
"‘a'l’essmn | (C) Data Link (D) Physical

T
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pmen by Goagle to prowde internet access at more cheap

S a new ae "'TTL -

_,..*.,..
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§!} Google Hub
G@ﬁgge Net Earth




I. ' d io galn administrative control over a system without

(C) Real Time (D) Both (A) and (C)

nslate ;:;1;;; AC € or host names to _
(C) Blnary | (D) MAC address

o -

th‘parnte (D) Real Time

el 0

ﬁu Ehagllcms copying and distribution

HT i



shakes only in order t0 perform

o shake feature of Windows 7 requires _____

(B) 2 (G) 10 (DY

(B) W!ﬂdOWS— (C) Blackberry (D) Apple
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